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UNIT 1

Period
Geometry with Trigonometry Midterm Review

QR. Draw a diagram to help!

1. Qisbetween P and R. PQ = (2w - 3) ft., QR = (4 + w) ft., and PR = 34 ft. Find the value of w. Then find PQ and
Qw’3 Ya
<

Qw/?) ,\»(—{.LUJ'/ 371 \QQ', QEN;B QK: :A—LEJ)
= ;) [ _5 = A n
f Q % e\ = DY _ _
\_ﬂp/ Yo = 3D @
’
2. Bis between A and C, D is between B and C, and C is between B and E. AE =28 cm., BC=10cm., and AB=DB =
DC. Find CE. Draw a diagram to help!
44_,,.4_4/\\/?,\—1—!—'-’—“—% %D:,ZC:S s CE;jX'Igzlj
. %‘e\/ ‘/.e) ,Af(}‘;‘)
A 6 b cC € o, A<= 'S
\_,-———’—\/_/ J
2%
A) 5 B) 10 C) 12

()15

E) 15
3. Use the diagram to the right. /land Z2 are

complementary

D) vertical angles

angles.
B) supplementary

C) congruent ?@ P
E) a linear pair

4. If ZP and ZR are complementary and m£P is 4 times them/R , find mZP and m/R.
maP= 4lmge) P mak=T0

U (m=zk ) r mx =90

5(mye) =90 —
For #5 -6, find the coordinates of the midpoint.
5. C(2,9),D(-2,-1)

6. E(-3,-3), F(9, -15)
(2*—1 i \\ < (-5'% - «17>
— S - O L{« Eal L |
7. Given AB = ﬁ, BC = E, find the value of x 8. In WXYZ, VE ;Y_Zand Y_X ;Y_Z
i 2
6x — 8 . 3x+20 What is the value of X
T I il 1} - : &
A =3 C D w X
_ Ix+ 14 Sx
AO 2O Hy§ 7 xR0
D~ =¥ Z ¥
=) _,



9. In the diagram, AB=CD. Find CA.

) ] : |4 2xa 20 I +1 ' W~
e+ 1= x-S CA:b&*Zt A B ¢ D
(= 2x a~x

X:

i ) i +2\
Complete the following sentences. m

10. The intersection of two lines is a 2\‘06\\/%

\

\] N

11. The intersection of two planes is a 9~AV\Q

12. The intersection of a line and a plane is a %/)s\ N

13. Find the value of x.

(x + 15): NEN I 3% -1 = 76
L‘x( -2 :[76
(3% — 17)° L_b(;%‘fz_

Use the diagram to the right.

14. What is another name for plane G?

- lang DAF A
are pessible anguer s T~
15. What is another name for line p? - s D M~
CD oY D (‘ e
16. Name the intersection of lines n and g.
5 E¢

17. Name the opposite ray of FB.

S/
FA

18. Find the value of x.
Ry ~20 T KA X4 2 =1§0
JOx b= [¥0
[0x = [Th

{8x-20)

Y

L 3



For #19 & 20, use the diagram to the right.
19. Find the value of x:

X+ 3x-3+3x-2 =70

Cx~6 =90 ,
Fx -7 —>|x2
20.2) M/CAD = 3(12)-3 :@ b) Mm/BAD = Sx-3=5(12)-3

-
Find the value of x and y.

21. / 22. 180 23.
(2y + 4)° 38‘\ (2x + ‘|0F}y( 25)°
}u/:ay — 65)° (4x + 20:=Y2¢ 2)°

- 3¢ '
X DxA 164 v+ 20 =180
;zjmz:%j»(.s (= 15° o+ 16 =160

Lcl~/ KQ Yy =10

_ 2 =1
Ehv e Tsivii Xz 2
-1 \3 _ 3 - 1§
/r\:j: 203 Ju-T 710 » Hx =)%0
=27 B Ay (i)
UNIT 3 @j 24 4L
24. Find the slope of the line that passes through the following points. Q? 2SY > 0 = (WD
X9 >, Yz Vyp 2 _‘,\25;\?0
a. (1, 1) and (4 10) b. (2,5) and (2, -7). P .
}0_‘ ] _ ﬁ —-—I— < — Y2 2 - 3
L e— T = = 3 - — = A
M 4=\ 2 [] m 2T 6] &Q\/\’_’f@m \3\45 - Qg\é_
Write the equation in slope-intercept form for the line described.
25. Passes through the point (-5, 2) and is perpendicular to the line y =—% X+2.
_ L G - .
W\’/g— \&}) \\})\/V\:(x ) K«S lz/x
o sy TR e ~
gas Sles) /(975 3
26. Passes through the point (8, 1) and is parallel to the line y =2x+4.
W= & \3—\3 = v (X=x.) / /\: 2x—14%
pt (") -1z oa(x- %) W= 2% -5
Use the diagram to determine whether the given angles are congruent or supplementary. /
1/2
27. /2 and £6 28. /3 and 45 29. Z4 and «£7 /4
5/6

= i 7

(core X—‘S) (Cms. et ZCS> <~4‘1’—: 5L 36 supp o #Ufs



Decide whether the lines are parallel, perpendicular or neither.

L
30. y=4x-3 w\’/“ 31 y=2x+5 y\* 7 32. y=5x+7 w\’fgf 33 y=—2x+4 7
=2 1 = \ll \/\/\:3 1 = \/,l
y=2x-3 W :——x+2 W y=5x-7 y_—_x g wm
EMW\ @ Pamjthi§ @ZJ
Solveforx /
(2x+5/(6x+15)/ 'ﬁ((bns W}x '&_3 (4x712)‘; \3
/ / / KX
(OO g
607
INFS ¥ et \S = 10 /
Fxra = (K 12 = Lo
g = 1Lo LfX§//';L

— E
36.
(—x+15\ ‘ 1(/‘;\/*6*70:(\80

\X« Y L300 % Ay = 360
’ B +36 =3B

Dxz 330

Use the diagram of the rectangular prism below to complete each statement.

37. A segment that appears to be parallel to FE: GD or M o 5(: A F
o H Bl— G
38. A segment that appears to be perpendicular to CD: 5C o
oY~ ﬁ or” @/6
—— — ‘H
—_— 5= — e e JE
39. A segment that appears to be skew to BC: AT o HE sv GF ov X :
C c D

40. A plane that appears to be parallel to plane ABC: %\M\Q ?ED

Classify the relationship between each pair of angles as alternate interior, alternate exterior, corresponding, or
consecutive interior angles.

41. /6and /10are  COVYES POY\AMG% angles.

42. /Tand Z9are W it evior angles. ’

43. /8and £9are COVZN&L{'}H\/{ iV\-I'CVJFO\/ angles. 12N

44, /5and Alare AN Sy keior angles.




UNIT 4
Classify the following triangles by angles and sides.

obtuse 6 A Geute iseseles
Scalena 3

45, Fy

48. The vertices of AABC are at A(2, 3), B(5, 1), and C(0, -3).
a) Draw a median from vertex B. o A
Shack ak B g9 Fo midph o AC 5
. N 7\.
midigt of Ao (L0 < ’
b) Draw analtitude from vertex C. ___
5/\1«\”1' ak C 9 1o A c
— 3 : =2
wnof FB= 3 m o kb= v
49. Determine the possible values for x, if the sides lengths of a triangle are 7 yds., 24 yds., and (2x — 1) yds.
o ® 92 >ax-) ® 29rax-l>1 @ ax-1+71 2 @QX"TB
B 3\ Y 2¢ - S a2B ] 2%+ 724 A2

- C\ 25> -1\ 2 18 x>%
e

Determine whether it is possible to draw a triangle with sid e given lengths. Ex&a"rr_;-\

50. 12,11, 17 51. 1,2, 3 52. 9,41, 30
=2 > 1) w173 Q430 24|
A7 1 ¢ 2353 X 29 >4| %
\ Q
2 sThas S 66-(@\341/ _ \
~ \ fondh 2 s ank 36 (S Vm‘J/
o e 3 Yo Hhann 3 41
e e Qo “Fhan
Find the value of x.
53. g 10 54,
x° (4x — 40)°
3x+5 Ex — 25 50°
by 410 25x-D U -to - X+ 50



55.

EXJ(L‘X—VY B

57. PocrS = dx !l
8x+5[ |2x+ 1 (oY = b
Y Z

3x

59.

56.
(bx — 14)°
Ll
23( kj)(/J\f =90
Ty 11290
Yx = (oY
o .
58. —= =55
60.

62. Given AABC and BC < BA < AC. List the angles
from smallest to largest. (Draw a diagram to help!)

%
SmaM

=

W g




63. Determine if lengths 12, 17, 9 can represent the lengths of the sides of a triangle.
2\ > 1] %{ea%/ Fhan Hoo 3

64. ldentify the special segment (perpendicular bisector, angle bisector, altitude, or median).

a. Median €\

b av\%;u blSedo — WWS? s
G

peovp. lOiSQC"?'O( A\lU(JMC

d. aﬁﬂuo‘& /

UNIT5 ¥
®
65. Point P(-2, —11) is reflected in the lingly = —1.) What are the coordinates of P"?

W)Y\ZWM "

\0

66. Find the image of AABC after the transformation described.
Translation: (x, y)— (X, y+1); Reflection: in X =1. A
A B

A(> ,‘—ﬂ )—Bj\‘('bﬁ)—v A7(-V 5 ) X
B(4 4 )=e@5)> B(-),5)
(L, ¥ )0 (ba)s c(-4.9)

67. Rotate point A(-2, 5) ...

a. 90° cw about the origin b. 180° cw about the origin c. 90° ccw about the origin

P \X,Lg\ \ . \
(/b{) ™) fr (’2,53 ﬁ@ f((ﬁj\ ’Q) 7/%(”15} Al ("S }d")>

ey
68. Find the angle of rotation that maps P onto P’

b we &éb;aj

120 ° cw D\{O ° cow ' 2@ - Lo
- b


https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwih96rQqvXMAhWEWT4KHWlrCkwQjRwIBw&url=https://quizlet.com/24265371/coordinate-plane-flash-cards/&psig=AFQjCNHnCaJlIQyepYDcAOMPM8ubs4043w&ust=1464269361970575
https://www.google.com/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwih96rQqvXMAhWEWT4KHWlrCkwQjRwIBw&url=https://quizlet.com/24265371/coordinate-plane-flash-cards/&psig=AFQjCNHnCaJlIQyepYDcAOMPM8ubs4043w&ust=1464269361970575

UNIT 6

69. Given AABC = AHIJ , complete the statements below. Draw a diagram to help.

- —
WAEYAR S b) CA= JH 0) AIHI = A _BAC

Is it possible to prove the triangles are congruent? Write yes or no. If possible, tell which congruence postulate or
theorem you would use (ASA, SAS, AAS, SSS, or HL).

70. )’ ]

Nes. pAS oA

\l€5 SAS ~€5 ‘AM 5 /A(SA
U y B c
i i 4. \12 3. SI8
w VX z A D
No
75. To prove these two triangles congruent by ASA, 76. To prove these two triangles congruent by AAS,
it must also be given that ___ A% 2 TE . it must also be giventhat __ & A = A D

77. Use the diagram to the right to complete the following.

a. Name the included side between £ P and £ KLP. \ﬂl— )

b. Name the included angle between JK andJL. Zij :

¢. Name the included side between £ JKL and £ JLK. kﬁ- ) J L




78. Complete the proof.

. P
Given: O'is'the'midpoint'of ‘NP o
ZN = /P
Prove: SO =RO N R
Statements Reasons
1) — 1) .
0 i WAIOGWL o NP Grven
2 S 2) :Lﬁ a ol 15 Ha pdpt of <
NO 2 PO | FJ Pegumont
\/’/\U/W ,—L WV!W} \Hv‘\ &? ) /m‘rlu 2 ’5’ &W
3) 3) 6
XN 2 5P e
4

)
J Jon = Aror

D TL D %5 ave el ¥'5
are =

?ASON = ARGP V2P e A of = A we ok A
o anethe X, Ha, o XS ae =
6) o 5)
So = ro T2 AS are 2 Vhan alh the

79. Complete the proof.
Given: '/AD L EB

Prove: mMZECD =m/BCA

Coyye sdoomtiw? fw—{j are. 2,

Statements

Reasons

1) AD LEB

D Given

2) ZECD and ZBCA arert /s

2) L 2 Sen. ave JJ\U‘U’\W@YV\ \(1‘?‘{‘\;4'

) €D ABCA

3) If andles are right, then they are congruent.

4) mZECD = m/BCA

4) j,p 2 K_lS JO\VQ ,:’\;J) \-VLD_A/\ \‘\/L{)\\/ yraadove)

GV R Q,@6U




Formulas for Coordinate Geometry

(x1, y1) = a point on the line

Slope = % e (X2, y2) =a 2" point on the line
2 " e m=rise/run
e (X1, y1) = apoint on the line
Distance d= \/(Xz )+, Y)° e (X2, ¥2) =a 2" point on the line
e distance = length of segment
o X+ % Yty e (X1, y1) =apoint on the Iine'
Midpoint M (12“) e (X2, ¥2) =a 2" point on the line

2 2

Hint: Take the average!

m = slope

Slope-Intercept Form of a Line y=mx+Db e b =y-intercept
e (X, y) =apointon the line
e (X1, Y1) = apoint on the line
Point-Slope Form of a Line Y —Y1=m(X - Xi) ¢ m=slope

optional to use, but must then change
to slope-intercept form

Finding the Missing Side Length of a Right Triangle

Pythagorean Theorem

a?+b?=c?

for right triangles only

must be given 2 of the 3 side lengths
¢ = length of hypotenuse (side
opposite right angle)




